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Section- I

TS U9 (Objective Questions) quifer : 50
Full Marks : 50

Tus | H |+t 50 IS TR ST S0 THO R0 Hie W R | WA wE&Al
1 ¥ 50 A% 1 Yh I | 3ok HI T |

In Section- I, there are 50 objective type questions to be answered on OMR
sheet. Question numbers 1 to 50 carry 1 marks each.

[ 999 §& 1 9 50 % & Tds U39 § 9R faeey Ku @ e € ™ &

el © | 99 ooy fafeg &¥ |

In question Nos. 1 to 50 each questions has four alternatives of which only

one is correct. You have to choose the correct alternatives. 50x1=50
1. fag (-3, +5) T =qute & feom € 2
(a) wIH (b) et (c) T - (d) =g
In which quadrant does the point lie ?
(a) First (b) Second (¢) Third (d) Fourth
2. Frefafen & @ < iy den € 2
24/3
(@ 2-43 b s © 7{— @ V6
Which of the following is a rational number ?
24/3
(@ 2-43 b 5 (©) T{ GG
3. W fgua iRl 1 A gi-
(a) +2 (b) 1 (c) O (d) -2
The degree of a quadratic equation will be-
(a) +2 (b) 1 () 0 (d) -2
4.  sin®45°+ cos’45° &1 HH =1 | A © ?
(a) 0 (b) 1 (c) 0 (d) 2



2

which of the following is the value of sin®45° + cos’45° ?

(a 0 (b) 1 (c) » (d) 2
5. TRl 1 ATHehAE A B 8-

(@) -1 (b) 1 (c) 0 (d) 2

The maximum value of Probability is- .

(a) -1 (b) 1 (c) 0 (d) 2
6. m® _

(a) W "@em  (b) Wiw Wem  (c) ITuRAT We

(d) T ¥ Hi T

Tisa

(a) Rational number (b) Integar number

(c) Irrational numer (d) None of these
7. g X2+ 2x + 1 I Th YIF BA T 7

(a) 2 | (b) -1 (c) 1 (d) 0

One zero's of the polynomial x* + 2x + 1 is-

(a) 2 (b) -1 (c) 1 (d) 0
8. TH gu W fra w¥l Y@ el W1 et © 7

(a) 2 (b) 1 (c) 3T . (d) 3

How many tangent are drawn from a circle ?

(a) 2 (b) 1 (c) Infinity (d 3
9. 3THST 24, 15, 22, 13, 9, 10 T2 30 =1 URER &M ?

(a) 22 (b) 21 (c) 24 (d 9

The range of the data 24, 15,22, 13, 9, 10 and 30 will be ?

(a) 22 (b) 21 (c) 24 (d 9
10. sin(90°- ) SR B ?- |

(a) sinO (b) -sin@ (c) cosO (d) -cosb

sin(90°- 0) is equal to-

(a) sin@ (b) -sin® (c) cosb (d) -cosB
11. f&dt s E & faw P(E) + P(E') =?

(@ 0 (b) 1 (c) -1 d) 2

For any event E, P(E) + P(E") = ?

(@) 0 (b) 1 (c) -1 (d) 2




12.

13.

14.

15.

16.

17.

9,10,11,9,10, 11, 11, 5, 7, 6 &1 ageish &-

(a 9 (b) 10 (c) 11 (d) 3
The mode of 9, 10, 11, 9, 10, 11, 11, 5, 7, 6 is-
(a) 9 (b) 10 (c) 11 (d) 3
freaifera o @M wgug @i & 2
(a) x*+ V3 (b) -5x (c) 3x’+x"+3 (d) x*+4x+4
Which of the following is not polynomials ?
(a) x>+ 3 (b) -5x © 3X+x*+3  (d) XP+4x+4
sin 35° :
cos 550 P1 M &rT-
(a) -1 (b) 1 (c) 0 (d) 8 ¥+ T
sin 35°
The value of cos 550 Will be-
(@ -1 (b) 1 (c) 0 (d) None of these
AP.-3,%,2 ... & 1197 08 -
1
(a) 22 (b) 24 (c) -22 (d) 223
In AP.-3,-%4,2 ........... 11th term is-
i
(a) 22 (b) 24 (c) -22 (d) 2275
TEIR 4x% - 4x + 1 A T AR BT-
1 I
(a) 4 b) 7 () =% (d) +1
The product of roots of polynomial 4x” - 4x + 1 will be-
1 1
(a) 4 ® © -3 () +1
AP. 1 TEA 9T a 3R WHERR 4 & @ 1 & 9% H AN 2m-
() n{a+®n-1)xd (b) Fla+-Dxa)
() a+(n-1)xd (d) %{2a+(n—1)xd}

In an A.P. first term is a and common difference is d then the sum of nth
term will be-

() n{a+m-1)xd (b) Fla+(-nxd}



18.

19.

20.

2l

22,

23,

(c) at(n-1)xd (d) §{2a+(n—l)xd}
1
/5 TR B
(a) sin30° (b) tan30° (c) tan60° (d) sin60°

1
'\/_g is equal to-

(a) sin30° (b) tan30° (c) tan60° (d) sin60°
FEM 1 HYol g5 1 A o-
(a) mr? (b) 3mr’ (c) Yamr® (d) nr?
The total surface area of hemisphere is-
(a) mr? (b) 3nr? (c) Yemr’ (d) mr’
I V2 cos6 =17, @ O & A M-
(a) 30° (b) 45° (c) 60° (d) 0°
If V2 cosf =1 then the value of O will be-
(a) 30° (b) 45° (c) 60° (d) 0°
. 1 1
e o, pfeema sgu= Ax)=x"-3x+5 & gt & Z+‘EWW€1W~
y 2 El | )
(@) 3 ® -3 © 3 @ -3
If roots of quadratic polynomial Ax) = x> - 3x + 5 is «, B then value of
1 1
;sz will be&
5 5 3 3
(@) 3 (b) ~-3 © 3 (d -3

I oI FHIRROT ax® + bx + ¢ = 0 & I Hot aUeR B @ fgena T
&1 fafoam (D) erm-

(a) D=0 (b)) D>0  (¢) D<O0 (d) =9 ¥ = &
If both roots of quadratic equation ax’ + bx + ¢ = 0 is equal then

discriminant (D) of quadratic equation will be-

(a) D=0 (b) D>0 (c) D<0 (d) None of these
Sra 9 § feord fwadt fag (3, -4) o #ife &1 99 @m-
(a) -4 (b) 3 (c) -1 (d) -7



24.

25,

26.

27,

28.

29,

The value of ordinate of point (3, -4) in cartesian plane-

(a) -4 (b) 3 (c) -1 d) -7
Ifg fordl SF19 &1 €0 /, =0 b T AR h B @ SN F STGH 8-
(a) Ibh (b) VP2+b2+h (c) 2Ibh (d) 2(Ib+bh+Ih)

If length, breadth and height of any cuboid is /, b and h respectively. Then
volume of cuboid is-

(a) Ibh (b) VI2+8*+h*  (c) 2Ibh (d) 2(/b+ bh + h)
AABC T @rshio e @ fseet /B =90°, LA =40°d £C=2
(a) 40° (b) 60° (c) 90° (d) 50°

AABC is aright angle triangle in which ZB =90°, ZA = 40° then £C=?

(a) 40° (b) 60° (c) 90° (d) 50°
tan25° tan20° tan65° tan70° = ?

@) 0 (b) 1 © ¢ @ 3
AABC a1 APQR ¥ fgan @ f% ﬁg - ii @

@ ZB=4Q  (b) LA=/P () ZA=/R (d) ZB=.P
In AABC and APQR, it is given that ﬁg ig then

(@) ZB=4Q  (b) ZA=/P () ZA=/R (d) /B=/P
frefafed o wiF svsg gen § 2

(a) 10 (b) 21 (c) 11 (d) 35
Which of the following is prime number ?

(a) 10 (b) 21 (¢) 11 (d) 35
1+cot? 6

1+tan® 6 il %_

(a) tan’® (b) sec’d (c) cosec’d (d) cot’®
1+cot? @ .

letanty B equal to-

(a) tan’® (b) sec’0 (c) cosec’® (d) cot’®

B



30. A TH I6 w1 URAY R &A% WA S Y ¥ TR 8, @ 39 g9 @
o 2-
(a) @ HEH (b) 2 WE&  (c) SHEE (d) 4 A=

If the perimeter and the area of a circle are numerically equal, then the
radius of the circle is-

(a) 7 units (b) 2 units (¢) S units (d) 4 units
31. fag A(23) =1 0 9t fag @ =iii-

(@ 283 T (b) 5THE (©) Vi3TEE (d) 2%FE
The distance of the point A(2,3) from the origin will be-
(a) 2v3 units (b) 5 units (c) V3units (d) 2units
32. AfQ T wemsl %1 HCF= 15 3R LCM=90 & af Semsii w1 Turte g
(a) 135 (b) 90 (c) 1350 (d) 1250
If HCF of two numbers = 15 and LCM = 90 then the product of two

numbers will be-
(a) 135 (b) 90 () 1350  (d) 1250
33. 4K 20 =60°%l @ sin® = ?

@1 ©F @2
If 26 = 60° then sin0 = ?
1 1 V3
@ 1 ® 5 © I @ 5
34. 3Mfd 9§ PA e PB 1 vl W@ 39 YR @ 3
fF PA =8 @0 dem LAPB = 60° a wet M\;\“ il
@1 PB # @ w2 ( ] A :
(2) 8o (b) 16 &0 S
(c) 4 9o (d) 12 %o - 3¢
e P

In the given figure PA and PB are tangents
such that PA = 8 cm and ZAPB= 60° then (
the length of tangent PB will be TR

Y




| —

O ST S — = R

/,/t);{j’ (a) 8cm (b) 16 cm (c) 4cm (d) 12cm |
” 35. q Mow wiew & oo Uesdr YEd §, 99 e gHeo & g

Srre

(a) &€ 8A & (b) 3TH BA (c) T &WA (d) TF 7

The graph of two linear equations which intersect at one point then the
solution will be-

(a) No solution (b) Infinite solution
(c) Two solution (d) One solution
36. [ UMW Hfvrh fAgel § S W e w0 UM Wed @9 Wl |
[ERERCTIN
(a) 3TiveE (b) Fits (c) u&§ (d) dEeTRY

The ratio of any two corresponding sides in two equiangular triangles is

always same said by

(a) Aryabhatta (b) Euclid - (c) Thales (d) Pythagoras
37. TR TGUS & WEE HION H AT T e-
(a) 360° (b) 90° (¢) 0° (d) 180°
The sum of opposite angles of a cyclic quadrilateral will be-
(a) 360° ~ (b) 90° (c) 0° (d) 180°
38 T M F EF T OAII 12527 B T T TG S F S 2
(a) 9:25 (b) 25:9 (c) 53 (d) 3:5
The ratio of volume of two spheres is 125:27 then the ratio of their surface
area is- |
(a) 9:25 | (b) 259 (c) 5:3 (d) 3:5
39. 9 cos =x 1l secH = ?
(@) ) e © 1 @ L
If cosB = x then secO = ?
(@) x ®) Vi- © a1 @ *

.
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" 40. % AABC # ¥ 3 FrwiE A2, 4), B(0, 6) o1 C(4, -1) & @ AABC %
S o1 FEeE 8-

4 @ 6.2 ®) ©3) © G5 @ @)
'{/ If A2, 4), B(0, 6) and C(4, -1) are the vertices of a AABC then the
coordinates of centroid of AABC will be-
(@ G,2) () (2,3) (¢) (3,5) (d) (2,-3)
41, nR St AP G n’+2n+ 1 €, @ IHH 6o T &-
(a) 14 (b) 13 (¢) 15 (d) 16
Sum of n™ term an A.P. is n? + 2n + 1 then its 6™ term is-
(a) 14 (b) 13 (c) 15 (d) 16
4. T guey s # g 35 & U H € | 3 By # &uwe &
ST -
(a) 3:5 (b) 5:3 (e) 925 (d) 25:9

Sids of two similar triangles are in the ratio 3:5. Area of these triangles are

in the ratio-

(@ 3:5 (b) 5:3 (c) 9:25 (d) 25:9
43. f5 (4, -1) SR fag (2, 3) & o9 &1 g0 eft-

() 33 ) V5 (© 35 (@ 25

The distance between the points (4, -1) ad (2, 3) will be-

(a) 3V3 (b) 5 (c) 35 (d) 2V5
44. FHET 2427 +5y+2 HT TafaeR s 2 -

(a) 9 (b) 3 ) 41 (d) 25

The discriminate of equation 2v2y% +5y+42 is equal to-

(a) 9 (b) 3 (c) 41 d) 25
45. fag (3, 4) 3R (-3, 8) = W arelt Y@ & wenr fag & Fewms -

(a) (0,12) (b) (6,0) (c) (6,-4) (d) (0,6)

The co-ordinates of mid point of the line segment joining the points (3, 4)

and (-3, 8) is-

(a) (0,12) (b) (6,0) (c) (6,-4) (d) (0,6)

46. T HHR W1 IE IO IHh WK § 21 HO HT O W 30° B @ HAR
EEIE S
(a) 210 (b) 213 o (c) 73dio  (d) 7o

By

r* =




47.

48.

49.

50.

The angle of elevation of a tower 21 m away from its foot is 30°. Then

height of tower is-

(a) 21m (b) 21W3m (c) 73 m (d) 7m
] =1 Freametl ot 99 gaw B @-

(a) HaiTEH (b) &Y (c) walTEm 3R waEq i
(d) T ¥ K &

Two circles of different radii are always -

(a) Congruent (b) Similar (c) Congruent and similar both
(d) None of these

5
IS cosech = 3 at cotd =2

5 3 3 4
(@) 3 (b) 3 - © 7 d) 3
If cosecO = %,then cotf = ?

5 3 3
(@ 3 (b) 3 () 7 (d)

4
3
QI waE fAqs AABC iR ADEF 3§ W&R ¢ f 2AB = DE iR BC = 8
g0 @ EF =1 \
(a) 16 90 (b) 12 9o (c) 1490  (d) 8 4o

Two triangles AABC and ADEF are similar such that 2AB= DE and BC= 8
cm then EF =?

(a) 16cm (b) 12cm (c) l4cm (d) 8cm
frafafed & & @&l ® ? afg B ¢ ot 99 % 3§ Beues & e

ﬁmwﬁmp"%—

P 2 p 2 p p
(a) T—g‘(-)-Xﬂ'I" (b) 72—(-)—X 27r | (C) 1—8—0-X27Z7" (d) 3—6—6X27Z7"

Which of the following is true if area of a sector of angle p (in degree) of a

circle with radius r-

p 2 p 2 p p
L L5 P 2 -
@) g™ (b) 0% © Tgo*™ (@ 357
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@vs- I
Section- 11
Eicy TS U9 (Non- Objective Questions)
g I 99T (Short Answer Type Questions) qufeh : 50
Full Marks : 50

fdor: v Wem 1 9 22 9% ETE W9 R | 3 9 sad 15 WYl o S 2
T FIfe & Y W & forg 2 ofw feifa ©

Instruction : Question Nos. 1 to 22 are short answer type. Answer any fifteen
questions out of the following. Every questions carries 2 marks. 15x2=30

1. 0.46 = 9T G& & ®9 H oK Y |

Express 0.46 as a rational number.
2. A by cc—‘aﬁ qAT e Sargd foh e weieto |d @ W e
2

az,bz

2x -3y =8

6x - 12y =11

By comparing Z—l %— and s—lﬁnd the following equations are consistent or
2 2 2

inconsistent

2x-3y=8

6x - 12y =11

3. fag Hifsw fa %@WG@T%I

1. ..
Prove that " 1s irrational number.

4. Al w1 yepfd SaEe afg fgura i 3x% - 6x +5=07% |
If quadratic equation is 3x° - 6x + 5 = 0 then find the nature of its roots.

5. AP.:2,7,12, e, % WA 20 TSI BT M [ BT |

Find the sum of the first 20 terms of the A.P. : 2,7, 12, .............
6. AME 15cotd =8 Al sind TAT secO I HIfST |

If 15cotB = 8, then find sin and sech.
7. 39 fag & frvme @ wifse st fasgen (2, -2) &k (-7, 4) =t fiem
el Y@rEE ®i AARkd 9 W 2:1 % g ¥ faAed w2 |

b




10.

11.

12,

13.

11

Find the coordinates of the point which divides the line segment joining the
points (2, -2) and (-7, 4) in the ratio 2:1 internally.

cot85° + sin75° &I 0° 3R 45° & == & wivl & FrepoEdg U & w&
H = HINT |

Express cot85° + sin75° in terms of trigonometric ratios of angles between

0° and 45°.

fe #, AODC ~ AOBA, ZBOC = 110° 3R

ZCDO=50°2 | ZDOC @2 /DCO T

SIS |

In figure AODC ~ AOBA, ZBOC = 110°
and ZCDO = 50°.

N

Find ZDOC and ZDCO. S
6 |HI0 B a1e T g9 % fag P W @t Tl Yer PQ #% § 9 A

@ ¥ fig Q W 3w whR et § fF 0Q= IO\ﬁOIPQﬁWE‘
A IS |

A tangent PQ at a point P of a circle of radius 6 cm meets a line through
the centre O at a point Q so that OQ = 10 cm. Find the length PQ.

fag i i, (1—00‘(9)2 s

1—tané

1-cotd )
Prove that, [1 o 9] = cot” g

J9= orEs faft ¥ 26 T 91 ®1 @0 WO SR WO WO W@ Y |

Find the HCF and LCM of 26 and 91 using the Prime factorisation method.
=1 wreft =51 e [ wifee-

ai-st@e | 0-10 | 10-20 20-30 | 30-40 |40-50 | 50-60

ARARAT 2 3 5 2 7 4

O~
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Find the mean of the following data

Class- Interval 0-10 |[10-20 |20-30 30440 40-50 | 50-60
Frequency 2 3 5 2 2 4

14. T U9 %l TH 9R Beh] WAl ¢, O TH AT G U HE R AR
@ ST |

A die is thrown once then find the probability of getting a prime number.
15. =1 9rolt =1 Aieges [ Sifee-

Tl 20 (29 |25 |43 |38 |28 33 |42
forenfeli =t g | 6 28 |30 1 4 24 15 |2

Find the median of the following data.

Marks obtained |20 |29 25 43 38 28 33 42

Number of | 6 28 30 1 4 24 15 2
student

16. 4x°+5x+2H x +39 T ]I |

Divide 4x* + 5x + 2 by x +3
17. 9HEY Td SFEAEY afaal &1 3 fa=-f= 33w <ifse |

Give two different examples of similar and non-similar figures.

18. T8 (2, 3) 3R (2, y) 4o foag @ wogreat @ @ y &1 oW 9@ HIfST |

The points (2, 3) and (2, y) are equidistant from the origin then find the
value of y .

19. 3Thfd ¥ T 96 % ufed T wgds PQRS &=
T 2 | fag Fif fF PQ+ RS=PS+ QR

In figure, A quadrilateral PQRS is drawn to circumscribe
a circle, Prove that PQ + RS =PS + QR

20. TH IA H 6 oA MR 7 A W B | T e AgmsA e wucﬂ%'\lazn
wifehar € fof freprel € g A §

Y’




21

22

23

24.

13

A bag contains 6 red balls and 7 blue balls. A ball is drawn at random.
What is the probability of drawing a blue ball. |

. A(-4, -5), B(-1, -6) 3TR C(4, 5) TF st ABC & 39 €, @ 56 g |
1 A T I | |

If A(-4, -5), B(-1, -6) and C(4, 5) are the vertices of a triangle, find the area
of the triangle ABC.

eitepiksreon %éwwwﬁ%mmmﬁ%?

. . . 21 Gk
The decimal expansion of rational number Pt terminating or non
terminating repeating
e ST U9 (Long Answer Type Questions)

fador: uva de'm 23 9 26 9% I I U B | 39 HIE e g &
feru 5 sfw fauff@ & |

Instruction: Question No. 23 to 26 are long answer type. Each questions
carries 5 marks. 4 x5=20

32 W0 St SR SR B 18 U0 Al T SeR aed W o4 s
T |3 A O W Eel R W 2 R 39 W S T YR
2 o W R | AlE vEeie R 36 #Y I 24 90 ¥, 9 3w 20 @ e

IR fader S W Hife |

A Cylindrical bucket, 32 cm high and with radius of base 18 cm, is filled
with sand. This bucket is emptied on the ground and a conical heap of sand
is formed. If the height of the conical heap is 24 c¢m, find the radius and
slant height of the heap.

yar 'or'
Th T &b =1k, S 60 GHI0 So1 B, B 90 A 56 Ao 3R 14
0 T | SUHT AT qU 9% TR SAFS FH FIC |

The diameter of the ends of a frustum of a cone 60 ¢cm high are 56 cm and
14 cm. Find its volume the curved surface area.

e fafy ¥ g wifee-
X+2y-6=0
Al 2x - 3y - 12=0




25

26.

14

Solve Graphically
Xx+2y-6=0
and 2x -3y -12=0
e 'or'
T 3 H TH G TG ITD 3P hl ol W S & HT AT 99 = |
Ifg G & 3Rl &1 HAR 5 B, a1 H&A A HINTC |

The sum of a two-digit number and the number obtained by reversing the
order of its digits is 99. If the digits differ by 5, find the number.

fog wivT fF < guey fgsl & g%l &1 g ST M SIS &
o & UM B SUE B |
Prove that the ratio of the areas of two similar triangles is equal to the ratio
of the squares of their corresponding sides.

3reer 'or'
1951 ABC &< fsed AB = 5 910, BC = 5 90 3R CA =7 | 36 B
% ofd: g9 w9 | |
Draw a triangle ABC in which AB =5 c¢cm, BC = 5 cm and CA = 7 cm.
Draw an incircle of this circle.

W@ww@ww%@ﬁ4ﬁoaﬁw9ﬁoﬁ§ﬁwﬁ%ﬁﬁgﬁ
@W@sﬂqdw%*ﬁmﬁliﬁ?ﬂaﬁmﬁmaﬁl

The angle of elevation of the top of a tower from two points at a distance of
4 m and 9 m from the base of the tower and in the same straight line with it
are complementary. Find the height of the tower.

e 'or'
T aghfeed 9o & ReR 9 28 W T 10 W0 3 99T & frer @ik
T & AT WV HEE: 30° R 45° € | wgHIE Wad @ 9w SR
ol & o= H A H@ HifT | |

The angle of depression of the top and the bottom of an 10 m tall building
from the top of a multi-storeyed building are 30° and 45°, respectively.
Find the height of the multi-storeyed building and the distance between the
two buildings.

B
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(b)
(c)
(a)
(b)
(b)
(c)
(b)
(©)
(b)
(©)
(b)
(c)
(c)
(b)
(a)
(b)
(d)
(b)
(b)
(b)
(c)

(a)
(a)
(d)

15

@ug- I (Section-I)

3T (Answer)
26.
27.
28.
29,
30.
31.
32.
33.
34.
35,
36.
37,
38.
39.
40.
41.
42.
43.
44.
45.
46.
47.
48.
49.
50.

| e, . Ao |

(b)
(d)
(c)
(d)
(b)
(©)
(c)
(b)
(a)
(d)
(©)
(d)
(b)

- (d)

(b)
(b)
(c)
(d)
(a)
(d)
(©)
(b)
(d)
(a)
(b)
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SUBJECT- MATHEMATICS
BLUE PRINT OF CLASS 10th (B.S.E.B.)
Co-subject Marks Number of Number of Short Number of long
allotted | objective type | answer type questions answer type
questions questions.

Number System 10 4 4 -
Algebra 20 11 4 1 (including 'OR")
Geometry 20 9 4 1(including 'OR")
Trigonometry 20 11 3 1(including 'OR")
Co-ordinate 10 6 3 -
Geometry
Mensuration 10 5 - 1(including 'OR")
Statistics and 10 4 Z) -
Probability
Total 100 50 22 4 (including 'OR")




